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Deputy Range Forest Officer (Forestry)

Version C
Question No.

Question Expert Committee Dicission

By carefully examining the figures (a), (b), (c) and (d),
54 select from the given options (A), (B), (C) and (D) the
figure which will continue the same series?

Correct answer is option (D),
instead of option (A)

of forests
84 Apart from the provisions of REDD, the additional and
feature of REDD plus is Option (C) Both (A) and (B)

both options are correct

Option (B) Sustainable management

Deputy Range Forest Officer (Science)

Version A
Question No.

Question Expert Committee Dicission

By carefully examining the figures (a), (b), (c) and (d),
29 select from the given options (A), (B), (C) and (D) the
figure which will continue the same series?

Correct answer is option (C),
instead of option (B)




Option (A) Only Il and Il are correct
and
Which of the following fact / facts is / are correct "
= regarding the famous cricketer Anil Kumble? Optian (B) AlLL N and 1l are carree
both options are correct
: : S
112 Where do you find the Wroughton's free-tailed bat Sk e bl
in Karnataka?
Correct answer is
117 The Citric Acid cycle occurs in N 1) Reshrot thess;
instead of option (B) Mitochondira
(B) Stem of a monocot
and
124 In which of the following cambium is absent? (C) Root of a monocot
both options are correct
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